Slope as Rate of Change
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mﬁ - 8. Televisions In 1970, 12.1% of Canadian 1
mine the rate of change households had colour televisions. In 1997, the
n the meaning of the rate of change figure was 98.7%. Find the average rate of 5
| nhwﬁ ] c‘Qchange, to the nearest tenth of a percent per year. :
o l 9. Railways In 1947, Canadian railways logged t
I :E- ' T 9 570 000 000 passenger-kilometres. In 1996,
R pol -+t Q)  theylogged 1 520 000 000 passenger-kilometres.
3 f"’“““* I Find the average rate of change, to the nearest
.1__:15 fol | i__.g‘_!__;wj f< + 2_9 million passenger-kilometres per year.
S -a 2 10. LP record sales The table shows LP
— 0 j—,ﬁ—é—éﬂi 6.1 record sales in Canada, in millions of units, over a
EEmEER ]—P—| M= l[?.-}/ 20-year period
T g e £ 9010
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a) Calculate the. average rate of change ﬁ-um
I 1971 to 1981; from 1981 to 1991; from 1971 to
1991.
' J b) Does the average rate of change from 1971 to
1991 give a true picture of the changes in LP
record sales over the 20-year period? Explain. |
11: Running Bill jogged for 5 min, and then
]| i 1 o e sprinted 400 m in 64 s.
e B ‘ a) Atwhat rate did he sprint?
' The length of tape in a 0 b) Can you use the rate from part a) to find how
. ﬂwdeommemZ%m far Bill jogged? Explain and justify your
the SP mode, the tape will record 120 min reasoning. J
,;' . What is the rateufchange in |
s per minute? ) =
Whatclucsthe rate of change mean? B
l w
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